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Inspiral range (Mpc)

L1:DMT-SNSH_EFFECTIVE_RANGE_MPC.mean
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Strain ()

L1:DCS-CALIB_STRAIN_CLEAN_CO01
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Time series downsampled to 2048 Hz
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Strain ASD (1/Hz/?)

L1 strain sensitivity, 2020-01-04 02:53:42 UTC (1262141640.0)
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L1 displacement sensitivity, 2020-01-04 02:53:42 UTC (1262141640.0)
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L1 displacement sensitivity, 2020-01-04 02:53:42 UTC (1262141640.0)
Photon calibration excitation frequency zoom
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L1 displacement sensitivity, 2020-01-04 02:53:42 UTC (1262141640.0)
Photon calibration excitation frequency zoom
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[ (m/ct) / (m/ct) ]

[ (m/ct) / (m/ct) ]

delta = linfit(@420 [s]) - linfit(@0 [s])
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[ (m/ct) / (m/ct) ]

[ (m/ct) / (m/ct) ]

delta = linfit(@420 [s]) - linfit(@0 [s])

L1 TST actuation strength change
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L1 Optical plant change
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